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1. Letq, Band yare the roots of the polynomial 25® =53« 1=0,
Find ™"y, ‘

2. Snow that x4+ 4 is o factor of Plx)=x* +2x" - 232~ 60 and henve factorise P(x).
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3 Congider the polynomial P{x)= 1 +2x - 4.
i . Show that P{x)= 0 has only one real root and that it Hes in the Interval 1< x < 1.5,
ii.  Taking x,=12 asq first approvimation to this root, nee one step of Mevdon's Method

to find a beiter approximation x,, correst to two decimal places.
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The cubic polynomial P{x)=x* + rx® 4 sx -+ 1, where 7, 5 and ¢ are real numbers,
has thres real zeros, 1, @ and —«.
i. Find the value of ¥,

ii. Find the value of £+ 1.
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Supposs -2z 4= (x +Q;)’Q(x} + 3 where Q{l} is & polynomial,

Find the value of a.

6. Ife, B, and ¥ ars the roots of the squation 257 — 32! 4 dx =~ 6 =0 find the value of:

i) a+f+y
) (o DB+ D0y +1)
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7. Ylse the Iﬁaimmgdﬁ theorem to find o factor aft P(x) = x* =7z~ 6, then factorise complotely,
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8. Solve the equation x” +6x° + 3x — 10 =0 if the roots form consecative terms of an arithmetic suries.

9. If &, f,y arethe zeros of the polynomial P(x) = 2x® + Bx® — x + 6 evaluate:
a® + 9t
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When 00x) = ax® + bx? + ¢ is divided by (x < 2) the remainder {5 3 and, when

10. Q(x) is divided by (x* - 1) the remainder is (2x + 4%

Find a, b and .
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P bpa = (x+2) K1) 43

i)~ P

A2 A= car= B0t

“’bp_‘g_?,_a = 0.8 +.3

%

/6 +a 8 O +3‘/
oo 19
7 Play s 35”"'(;
)y = =r T
F’CD = O
A1) w2 g:‘m}ﬁ |
b - Ah i
DU w3 .
gf’() - {9{4!)(7‘» “—?ﬂ"g) tf.-f
A e (pr+1) (x.,_x,)(-"""b)

9. 42 +g‘x.+5‘1-= (¢(+§+€g>¢-——-&[-l? -}-cLG*’{)G'J
= (-4 ~a(~§)
= 16+
= 7

6. 1)
aipr =2
i) (L) ({;4?)("‘*9
. udlg,vr‘-l‘

[ R4

o ¢ 2+5E Y
2E

Lo

1

8 As_’rh”‘z*snﬁjt‘ué’
a-d, o, a-+d,
Q-d-ﬁ@'f‘m'.*d"_'é
3G, =~ 4
a = - 2
(-Qn‘d> ala+diz. |O
é‘{d?_”-dﬁ—) = iv
_aly-d» = 19
. n &7
Ly el
d>= 1
ol 213
The arse & e
“&-!-»IJ)

"

AN




CEM - Yr 12 — 3 Unit Polynomials — Review Booklet — Paper 1

10. ) ) =ax?¥ el )
qros drd  GEO=DE

atb(ul =it alAPHRENNE2
-l L= g
e

&

§L-x) =3
ol (A e =3

axrhrC= b
‘m+4hm‘lc"3 G} M«@
.A-F.H—l‘w

@1@ aelre=t
e wa hiLs 2

-Za, :—4

R A% 3

Shr. a=3 win @ v get St ae=d vt G we got

arbrc=4
~g(2) bl =3 i i
~lh kbt =3 2 ket @
4“’6'1‘-{'.: 1% @
@“@ Wdeﬂ‘ Sihach - baF tnle (& we oltlaiy

dhar=139 B =
[ em]

b =15
J.b:lj‘
Sﬂ QA= i b\ﬂs' N r’_"‘,:-‘

10




